Using opc() to Coordinate Test Script Processing Instrument and PC/Python code

On the PC code, the read_stb() VISA command can obtain the value of the status byte on the instrument.
The bits in this 8-bit register are controlled by configurations in other subordinate registers.

When the TSP code on the instrument executes the opc() command, this will cause bit 0 in the
status.standard.event register to go to logic 1. If the corresponding bit in the status.standard.enable
register is set, then this operation complete signal will flow through to status byte and bit 5 (ESB) will go
to logic 1.

If the corresponding bit is set in the status.request_enable register, then bit 6 (MSS) will also go to logic 1
and an SRQ will be asserted.

The registers:

status.request enable = 32 -— enable ESB to cause SRQ
status.standard.enable = 1 -— OPC bit in this register feeds the ESB bit
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Python Code:

import pyvisa as visa
import time

rm = visa.ResourceManager()

try:

#get a session/handle for one resource

inst = rm.open_resource('TCPIP0::192.168.1.55::inst0::INSTR")
except(visa.VisalOError):

#try connect on dead socket on port 5030

print("Attempting Dead Socket recovery.....")

inst = rm.open_resource("TCPIP0::192.168.1.55::5030::SOCKET")

inst.close()

time.sleep(0.5)
#try again now on normal LXI port
inst = rm.open_resource('TCPIP0::192.168.1.55::inst0::INSTR")

print("Done attempting Dead Socket recovery.....")

inst.write_termination = "\n'
inst.read_termination = "\n'
inst.send_end = True

inst.timeout = 10000 #timeout in msec

inst.write("*IDN?')
print(inst.read())

inst.write('reset()")
inst.write(‘errorqueue.clear()')
inst.write('status.reset()')

inst.write('status.request_enable = 32")
inst.write('status.standard.enable = 1')

inst.write("loadscript long_duration_task")

inst.write("function long_pause(duration)")

inst.write("delay(duration)")

inst.write("beeper.beep(0.5, 1200)") # have the instrument give a chirp
inst.write("opc()") # have instrument tell us operation complete
inst.write("end")

inst.write("endscript")

#run the script to place into runtime memory of instrument
inst.write("long_duration_task.run()")

print("function loaded into runtime memory of TSP instrument")

print("Starting value of status condition register:")
print(inst.query('print(status.condition)'))

script_running = True
status_byte = 0
debug =1



#call our long_pause function with a 10 second parameter
inst.write("long_pause(10)")

while script_running:
status_byte = inst.read_stb()
if debug: print(str(status_byte) +' - ' + str(bin(status_byte)) + ' - ' + str(hex(status_byte))) # for debugging
if debug: print(status_byte) # for debugging
if (status_byte and 64) == 64:

script_running = False
time.sleep(1) #delay for 1 second before asking again
print
print

print
print

"Ending value of status condition register:")

inst.query('print(status.condition)'))

inst.query('print(bit.test(status.condition,6))')) # bit.test index is one based, not 0
inst.query('print(bit.test(status.condition,7))'))

S a0

# close down
inst.clear()
inst.close()
rm.close()

Outputs from the Python:

The simple delay task will take 10 seconds. We get new value of status byte every second from the loop.
When bit 6 is logic 1, the while script_running loop will exit.
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